
1. H: 4 T: 5 O: 7 What number is this? 

Answer: ___________ 

2. Write the place value of 8 in 482 

Answer: ___________ 

3. 600 + 30 + 4 = 

Answer: ___________ 

4. Tick the correct abacus for 729 

 H:7 T:2 O:9     

 H:2 T:7 O:9 

 H:9 T:2 O:7 

5.  (H)  (T)  (O) 

What number is shown? 

Answer: ___________ 

6. Fill in the missing digit: 

H: ___ T: 3 O: 6 = 836 

7. Match the abacus beads to numbers:  Options: 

 (H)  (T)  (O)   → 421 

 (H)  (T)  (O)   → 234 

 (H)  (T)  (O)    → 313 

8. Write the number in words: 

715 = ___________ 
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9. Circle the number that has 9 in the tens place 

928   

397 

903 

10. H: 6 T: 0 O: 9 What number is it? 

Answer: ___________ 

11. Complete: 

__ Hundreds + __ Tens + __ Ones = 342 

12. Choose the correct form of 820 

H:8 T:2 O:9 

H:8 T:0 O:2 

H:2 T:8 O:0 

13.  (H)  (T)  (O) 

 Write the number: ___________ 

14. Write the number name for 999 

Answer: ___________ 

15. Which digit is in the ones place in 560? 

Answer: ___________ 

16. Rearrange the digits to form the largest number: 

Digits: 5, 3, 9 

Answer: ___________ 

  


